4+ X

_ (3 +;Z)+ g =)0
Basic Algebra 1.3 2L HQFS) =10
Use the commutative and associative properties
Commike =~ W@L bc&tiah -
commutative property %' 2,6 = G+3
associative property, 2 = 7.2
simplify J "“'r'-f; 5
whole number
closure property

counterexample

matching activ.



Alg tiles
X=5% 5<%

Words: The order in which two numbers are added does not
Commutative change their sum.
Property of

Addition Symbols: For any numbersaandb,a+ b=»b + a.
Numbers: 5+7=7+5




Words: The order in which two numbers are multiplied does
Commutative not change their product.

Property of
Multiplication

Symbols: For any numbersaand b,a- b= b- a.
Numbers: 3-10=10-3




Associative
Property of
Addition

Mental math...

Words:

Symbols:

Numbers:

The way in which three numbers are grouped when
they are added does not change their sum.

For any numbe

@+b+c=a+b+o).
(24+8+2=24+8+2)

34 [
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Words: The way in which three numbers are grouped when
Associative they are multiplied does not change their product.

Property of
Multiplication

Symbols: For any numbers a, b,andc,(@a-b)-c=a- (b- c).
Numbers: (9-4)-25=9-(4-25)

(5' 3)2 “ 5V Mental math... Gew#h

6(5?) Z30




Examples Name the property shown |
) 4-11-2=11-4-2 Camm.

rd) (n+12)+5=n+ (12 + 5) aAsSe



a.(5-4)-3=5-4-3) = {,0 b. l6+t+1t

Rnar < Caviam
|7+ &



Matching activ.

.-/__-_—7
[S +% +5x
( (G B) )
92 y #3X
Example &) Simplify the expression 15 + (3x + 8). Identify the properties used
in each step.
IS+ +3x  Commw

a3 S



T+2a + L+9
Vet T +H6 +9 Co mam

Qo + )2 S whs

Simplify each expression. Identify the properties used in each step.

c. 7+2a +G + 9 d. (x-5)-20
T42a o s w(s2Y) o
1+ (00 '
Yot D |0 0X



The volume of a box
using the expressiof ge-h e B
where £ is the length, w is the width, .
and ) is the height. Find the volume = 3o
of a box whose length is 30 inches,

width is 6 inches, and height is 5 inches.

c\;.v,o..lo3 —
900 4

oo &7



O) ’)2}2)"’ R

Words: Because the sum or product of two whole numbers
is also a whole number, the set of whole numbers is

Closure

P"{,g:;:z of closed under addition and multiplication.
Numbers Numbers: 2 + 5 =7,and 7 is a whole number.
2 -5 =10, and 10 is a whole number.
Whole + Wk = Whole Closed Fo waardion
Wha b - Wk = (V\aat)lae) nat S wlste.
W6 whal = Who( cAysed To it

—ubale - (maybe ) not v o Lluiti,



Example ) State whether the statement Division of whole numbers is
T: commutative is true or false. If false, provide a counterexample.

alsSe 1\

ext —= 01 Z=g Vi exception
/0 3






